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Date:________________________

Class:___________________________________________________

Subject:______________________

A


Review, HW #______________
Directions: Determine the prime factorization of the numbers below:




360







725

Prime Factorization:_____________________________

Prime Factorization:_____________________________

Directions: Determine the GCF of the following numbers:

45 & 75





60 & 90

GCF =_________________




GCF =_________________

Directions: Determine the LCM of the following numbers:

7 & 5






10 & 12

LCM =_________________




LCM =_________________

Directions: Evaluate the following expressions.

       8(4 + 3)=






    5(11 + 12)

________ x ______ + ______ x _______



________ x ______ + ______ x _______

________ + _______





________ + _______

      __________






        __________
Directions: Answer all parts of the questions completely.  Show all work.  Explain work using math vocabulary.
Lance and his little cousin are at the carnival that has a small ferris wheel and a big ferris wheel.  Lance get on the large ferris wheel at the same time his little cousin gets on the small ferris wheel.  The rides begin as soon as you are both buckled into your seats.  
a. [image: image1.png]


Figure out the number of seconds that will pass before you and your cousin are both at the bottom again if the large wheel takes 80 seconds to go around once and the small wheel takes 30 seconds to go around once.

Show your work:
Answer: _______________________________________________________________________________________________________________
Remember, there are 60 seconds in 1 minute.  How many minutes will pass before both you and your cousin are at the bottom at the same time?
Show your work:
Answer: _______________________________________________________________________________________________________________
b. Both of the ferris wheels start at 12:35.  
· What is the first time you and your cousin will both be at the bottom?

Show your work:
Answer:______________________________________________

c. If the ride continues, is it possible that both you and your cousin will be at the bottom at 12:43?  Explain your thinking.

Show your work:
Answer:_______________________________________________

Ms. Maljevic is planning Joseph’s 3rd Paw Patrol Birthday Party. She is creating the centerpieces of Joseph’s favorite three characters from the show. His favorite characters are Marshall, Chase, and Rubble. She needs to purchase balloons to add to the centerpieces. She purchased 36 red balloons, 54 yellow balloons, and 63 blue balloons from party city. She paid a total of $108.45 for all the balloons.  She wants each arrangement to have the same number of each color. 

                     [image: image2.jpg]



Part A: She wants each arrangement to have the same number of each color. What is the greatest number of arrangements that she can make if every balloon is used?

Show your work:

   Answer:_____________________________________

Part B: How many red, yellow, and blue balloons will be in one arrangement?

Show your work:

         Answer:_________________________________

Part C: More guest will be attending Joseph’s 3rd birthday party than expected and Ms. Maljevic needs to make more balloon arrangements. She went back to Party City and purchased 9 more red balloons, 6 more yellow balloons, and 12 more blue balloons. What is the greatest number of arrangements that she can make if every balloon is used this time?

Show your work:

Answer:__________________________________
